#### SIGNATURE PAGE

#### RFQ# F-33-2024

To the Board of County Commissioners of the County of Monmouth:

# THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	GCS Imaging Inc
	(PRINT)
Preparer's Name:	Shaina Massa
Signature:	Shaira Musel 11/06/2023 (DATE)
Address:	217 Hergesell Ave
	Maywood, New Jersey 07607
Telephone No.:	201-365-6101
Fax No.:	201-365-6202
E-Mail Address:	shaina@gcsimaging.com; rose@gcsimaging.com
	***(This should be the email where Contracts would be sent)***
Contact Person:	Shaina Massa or Rose Terkeltaub
FEIN:	
(Federal Employee ID)	

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

KLR	must be recei	ved no later than: November 9, 2023	10.30AW		
For D	Delivery to:	Various Delivery Locations. See Details Below.			
Deliv	ery Date:	1/1/2024 - 12/31/2024			
ITEM:	#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No:  Various Delivery Locations. See Details B  1/1/2024 - 12/31/2024  1/1/2024 - 12	D DESKJET AND INKJET PRINTER CARTRIDGES AL	L ITEMS MUST BE OEM I	N ORIGINAL SEAĻEI	o ,
1	HP #10 BLAC	K INK CARTRIDGE (#C4844A)	4 EACH	\$26.25	\$105.00
	MFG/Brand Product No:	Hewlett Packard  C4844A		L	
2	HP #45 BLAC	K INK CARTRIDGE (#51645A)	4 EACH	\$56.75	\$227.00
	MFG/Brand Product No:	Hewlett Packard 51645A		<u> </u>	
3		ACK HIGH YIELD INK CARTRIDGE	4 EACH	\$45.43	\$181.72
	MFG/Brand Product No:	Hewlett Packard CH563WN		L	I
4		RI-COLOR HIGH YIELD INK CARTRIDGE	4 EACH	\$48.00	\$192.00
	Packaging: MFG/Brand Product No: Variances i	CH564WN			

#### RFB# F-33-2024

## **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	HP #62XL BLAC	CK INK CARTRIDGE (#C2P05AN)	6 EACH	\$43.70	\$262.20
	Packaging:	Original OEM			<u>.</u>
	MFG/Brand:	Hewlett Packard	•		
	Product No:	C2P05AN			
	Variances, if a	any:			
6	HP #62XL TRI-0	COLOR INK CARTRIDGE (#C2P07AN)	6 EACH	\$45.42	\$272.52
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard			
	Product No:	C2P07AN	1		
	Variances, if a	any:			
7	HP #64 BLACK	INK CARTRIDGE (#N9J90AN)	6 EACH	\$17.71	\$106.26
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard			
	Product No:	N9J90AN			
	Variances, if a	any:			
8	HP #64 TRI-CO	LOR INK CARTRIDGE (#N9J89AN#140)	6 EACH	\$21.69	\$130.14
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard N9J89AN			
	Product No:				
	Variances, if a	any:	<del> </del>	·-·	
9	HP #82 CYAN I	NK CARTRIDGE (#C4911A)	2 EACH	\$26.25	\$52.50
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard			
	Product No:	C4911A			
		ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	HP #82 MAGENTA INK CARTRIDGE (#C4912A)	2 EACH	\$26.25	\$52.50
	Packaging: Original OEM			<u> </u>
	MFG/Brand: Hewlett Packard C4912A			
	Productino: — ITEM DISCONTINUED EVEIDED ONLY AVAILABLE			
	Variances, if any:			
11	HP #82 YELLOW INK CARTRIDGE (#C4913A)	2 EACH	\$26.25	\$52.50
	Packaging: Original OEM			<u></u>
	MFG/Brand: Hewlett Packard			
	Product No: C4913A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
12	HP #82 BLACK INK CARTRIDGE (#CH565A)	2 EACH	\$26.25	\$52.50
	Packaging: Original OEM			_l
	MFG/Brand: Hewlett Packard			
	Product No: CH565A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
13	HP #94 BLACK INK CARTRIDGE (#C8765WN)	4 EACH	\$37.89	151.56
	Packaging: Original OEM			-
	MFG/Brand: Hewlett Packard			
	Product No: C8765WN			
	Variances, if any:			
14	HP #95 TRI-COLOR INK CARTRIDGE (#C8766WN)	4 EACH	\$45.12	\$180.48
	Packaging: Original OEM		-	
	MFG/Brand: Hewlett Packard			
	Product No: C8766WN			
	1 100001110.			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/U	NIT	UNIT PRICE	TOTAL PRICE
15	HP #761 MATT (#CM991A)	E BLACK DESIGNJET INK CARTRIDGE	10 E/	ACH	\$168.70	\$1,687.00
	Packaging:	Original OEM				<u> </u>
	MFG/Brand:	Hewlett Packard				
	Product No:	CM991A	•			
	Variances, if	any:				
16	HP #761 YELLO (#CM992A)	DW DESIGNJET INK CARTRIDGE	10 E/	ACH	\$187.99	\$1,879.90
	Packaging: Original OEM					
	MFG/Brand:	Hewlett Packard				
	Product No:	CM992A	•			
	Variances, if any:					
17	HP #761 MAGENTA DESIGNJET INK CARTRIDGE (#CM993A)		10 E/	ACH	\$187.99	\$1,879.90
	Packaging:	Original OEM				
	MFG/Brand:	Hewlett Packard	•			
	Product No:	CM993A	•			
	Variances, if	any:				
18	HP #761 CYAN	DESIGNJET INK CARTRIDGE (#CM994A)	10 E/	ACH	\$187.99	\$1,879.90
		0.1.1.0514				
	Packaging:	Original OEM Hewlett Packard	•			
	MFG/Brand:	CM994A				
	Product No: Variances, if		•			
19	HP #761 GRAY	DESIGNJET INK CARTRIDGE (#CM995A)	10 E/	ACH	\$187.99	\$1,879.90
	Packaging:	Original OEM				
	MFG/Brand:	Hewlett Packard	-			
	Product No:	CM995A	-			
	Variances, if	any: ————	•			

#### RFB# F-33-2024

## **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
20	HP #761 DARK (#CM996A)	GRAY DESIGNJET INK CARTRIDGE	10 EACH	\$187.99	\$1,879.90
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	CM996A			
	Variances, if a	any:			
21	HP #761 MATTI (#CM997A)	E BLACK DESIGNJET INK CARTRIDGE	10 EACH	\$187.99	\$1,879.90
	De-les-i	Original OEM		L	1
	Packaging: MFG/Brand:	Hewlett Packard	_		
	Product No:	CM997A	<del></del>		
	Variances, if a	any:	_		
22	HP #761 DESIGNJET MAINTENANCE INK CARTRIDGE (#CH649A)		10 EACH	\$289.21	\$2,892.10
	Doelessins	Original OEM			
	Packaging: MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	CH649A	<del></del>		
	Variances, if a	any:			
23	HP #765 DARK (#F9J54A)	GRAY DESIGNJET CARTRIDGE	4 EACH	\$215.25	\$861.00
	<b>.</b>	Original OEM			1
	Packaging: MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	F9J54A	_		
	Variances, if a	any:	_		
24	HP #765 MATTI (#F9J55A)	E BLACK DESIGNJET CARTRIDGE	4 EACH	\$215.25	\$861.00
	Packaging:	Original OEM			1 .
	MFG/Brand:	Hewlett Packard	_		
	Product No:	F9J55A	<del>-</del>		
		any: ————————————————————————————————————			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
25	HP #932 BLACK OFFICE JET INK CARTRIDGE (#CN057AN)	4 EACH	\$41.13	\$164.52
	Packaging: Original OEM		<u>L</u>	_L
	MFG/Brand: Hewlett Packard			
	Product No: CN053AN			
	Variances, if any: CN057AN REPLACED WITH CN053AN	<del></del>		
26	HP #933 CYAN OFFICE JET INK CARTRIDGE (#CN058AN)	4 EACH	\$18.85	\$75.40
	Packaging: Original OEM		<b>L</b>	I
	MFG/Brand: Hewlett Packard			
	Product No: CN054AN			
	Variances, if any: CN058AN REPLACED WITH CN054AN			
27	HP #933 MAGENTA OFFICE JET INK CARTRIDGE (#CN059AN)	4 EACH	\$18.85	\$75.40
	Packaging: Original OEM			1
	MFG/Brand: Hewlett Packard			
	Product No: CN055AN			
	Variances, if any: CN059AN REPLACED WITH CN055AN			
28	HP #933 YELLOW OFFICE JET INK CARTRIDGE (#CN060AN)	4 EACH	\$18.85	\$75.40
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard			
	Product No: CN056AN			
	Variances, if any: CN060AN REPLACED WITH CN056AN			
29	HP #950 BLACK OFFICE JET INK CARTRIDGE (#CN049AN)	4 EACH	\$30.10	\$120.40
	Packaging: Original OEM			1
	MFG/Brand: Hewlett Packard			
	Product No: CN049AN			
	Variances, if any:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381 <sup>1</sup>

ITEN#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
30	HP #950 CYAN (#CN050AN)	OFFICE JET INK CARTRIDGE	4 EACH	\$21.11	\$84.44
	Packaging:	Original OEM		L	
	MFG/Brand:	Hewlett Packard			
	Product No:	CN050AN			
	Variances, if	any:	<del></del>		
31	HP #950 MAGE (#CN051AN)	ENTA OFFICE JET INK CARTRIDGE	4 EACH	\$21.11	\$84.44
•	Packaging:	Original OEM			_J
	MFG/Brand:	Hewlett Packard			
	Product No:	CN051AN			
	Variances, if any:				
32	HP #950 YELLOW OFFICE JET INK CARTRIDGE (#CN052AN)		4 EACH	\$21.11	\$84.44
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard			
	Product No:	CN052AN			
	Variances, if	any:			
33	HP #950XL BL/ (#CN045AN/AC	ACK HIGH YIELD INK CARTRIDGE	7 EACH	\$50.56	\$353.92
	Packaging:	Original OEM	·		<u> </u>
	MFG/Brand:	Hewlett Packard			
	Product No:	CN045AN	<u></u>		
	Variances, if	any:			
34	HP #951XL CY/ (#CN046AN/AC	AN HIGH YIELD INK CARTRIDGE	6 EACH	\$35.13	\$210.78
	Packaging:	Original OEM		<u> </u>	1
	MFG/Brand:	Hewlett Packard			
	Product No:	CN046AN			
	Variances, if	anv:			

#### RFB# F-33-2024

## **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
35	HP #951XL MA (#CN047AN/AC	GENTA HIGH YIELD INK CARTRIDGE	6 EACH	\$35.13	\$210.78
	Packaging:	Original OEM		L	
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CN047AN	<del></del> 		
	Variances, if	any:	_		
36	HP #951XL YEI (#CN048AN/AC	LLOW HIGH YIELD INK CARTRIDGE	6 EACH	\$35.13	\$210.78
	Poekoging:	Original OEM			<u></u>
	Packaging: MFG/Brand:	Hewlett Packard	<del>_</del>		
	Product No:	CN048AN	<del></del>		
	Variances, if any:		_		
37	HP #952XL BLACK HIGH YIELD INK CARTRIDGE (#F6U19AN)		4 EACH	\$49.71	\$198.84
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard			
	Product No:	F6U19AN	_		
	Variances, if	any:	<del></del>		
38	HP #952XL CY/ (#L0S561AN)	AN HIGH YIELD INK CARTRIDGE	4 EACH	\$37.71	\$150.84
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard			
	Product No:	L0S61AN	<u> </u>		
	Variances, if a	any:	_		
39	HP #952XL MA (#L0S564AN)	GENTA HIGH YIELD INK CARTRIDGE	4 EACH	\$37.71	\$150.84
	Packaging:	Original OEM		Ĺ	
	MFG/Brand:	Hewlett Packard	<del>_</del> _		
	Product No:	L0S64AN	<del></del>		
	Variances, if	any: ————————————————————————————————————			

#### RFB# F-33-2024

## **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM# DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
40 HP #952XL YELLOW HIGH YIELD INK CARTRIDGE (#L0S567AN)	4 EACH	\$37.71	\$150.84
Packaging: Original OEM	-	L	
MFG/Brand: Hewlett Packard			
Product No: LOS67AN	<del></del>		
Variances, if any:	<del></del>		
41 HP #970 BLACK INK CARTRIDGE (#CN0621AM)	12 EACH	\$70.26	\$198.84
Packaging: Original OEM	***		
MFG/Brand: Hewlett Packard CN621AM	<del></del>		
Product No:			
Variances, if any:			
42 HP #971 CYAN INK CARTRIDGE (#CN0622AM)	12 EACH	\$74.87	\$898.44
Packaging: Original OEM Hewlett Packard	<del></del>		
ONESSAM	<del></del>		•
Product No: CINGZZAWI  Variances, if any:		-	
variances, if any.		·	<del></del>
43 HP #971 MAGENTA INK CARTRIDGE (#CN0623AM)	12 EACH	\$74.87	\$898.44
Dookoging: Original OEM			
rackaging.			
MFG/Brand: Hewlett Packard Product No: CN623AM	<del></del>		
Variances, if any:			
44 HP #971 YELLOW INK CARTRIDGE (#CN0624AM)	12 EACH	\$74.87	\$898.44
•			
Packaging: Original OEM		L	
MFG/Brand: Hewlett Packard			
Product No: CN624AM			
Variances, if any:			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
45	HP #HPX551 D' (#CN621A)	W OFFICE JET INK CARTRIDGE	2 EACH	\$124.44	\$248.88
	Packaging: Original OEM		_		
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CN625A	- -		
	Variances, if a	any: 971XL BLACK FOR THE X551DW	_		
46	HP #HPX551 D' (#CN622A)	W OFFICE JET INK CARTRIDGE	2 EACH	\$126.38	\$252.76
	Packaging:	Original OEM			_L
	MFG/Brand:	Hewlett Packard	-	•	
	Product No:	CN626A	- -		
	Variances, if any: 971XL CYAN FOR THE X551DW		-		
47	HP #HPX551 DW OFFICE JET INK CARTRIDGE (#CN623A)		2 EACH	\$126.38	\$252.76
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CN627A	- -		
	Variances, if a	any: 971XL MAGENTA FOR THE X551DW	-		
48	HP #HPX551 D' (#CN624A)	W OFFICE JET INK CARTRIDGE	2 EACH	\$126.38	\$252.76
	Packaging:	Original OEM			1
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CN628A	- -		
	Variances, if a	any: 971XL YELLOW FOR THE X551DW	-		
49	HP #730 CYAN	HIGH YEILD INK CARTRIDGE (#P2V68A)	500 EACH	\$144.63	\$72,315.00
		Original OEM			<u> </u>
	Dackaging		-		
	Packaging: MEG/Brand:	Hewlett Packard			
	Packaging: MFG/Brand: Product No:	Hewlett Packard P2V68A	-		

#### RFB# F-33-2024

## **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
50	HP #730 MAGE	NTA INK CARTRIDGE (#P2V69A)	6 EACH	\$144.63	\$867.78
	Packaging:	Original OEM	, _		<u> </u>
	MFG/Brand:	Hewlett Packard			
	Product No:	P2V69A	- -		
	Variances, if a	any:	-		
51	HP #730 YELLO (#P2V70A)	DW HIGH YEILD INK CARTRIDGE	40 EACH	\$144.63	\$5,785.20
	Daaleaninge	Original OEM			<u></u>
	Packaging: MFG/Brand:	Hewlett Packard	•		
	Product No:	P2V70A	<u>.</u>		
	Variances, if any:		- -		
52	HP #730 MATT	E BLACK INK CARTRIDGE (#P2V71A)	2 EACH	\$144.63	\$289.26
	Packaging:	Original OEM	_		
	MFG/Brand:	Hewlett Packard	_		
	Product No:	P2V71A	-		
	Variances, if	any:			
53	HP #730 GRAY	HIGH YEILD INK CARTRIDGE (#P2V72A)	2 EACH	\$144.63	\$289.26
		o : · · · · · · · · · · · · · · · · · ·			
	Packaging:	Original OEM Hewlett Packard	-		
	MFG/Brand:	P2V72A	-		
	Product No: Variances, if		<del>-</del> -		
54	HP #730 PHOTO BLACK HIGH YEILD INK CARTRIDGE (#P2V73A)		4 EACH	\$144.63	\$578.52
	Packaging:	Original OEM	_		_1
	MFG/Brand:	Hewlett Packard	_		
	Product No:	P2V73A	· -		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
55	HP #148X BLAG (#W1480X)	CK HIGH YIELD TONER CARTRIDGE	4 EACH	\$197.85	\$791.40
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard	•		
	Product No:	W1480X	•		
	Variances, if a	any: ————————————————————————————————————	•		
56	HP #63 TRI-CO (#F6U61AN #14	LOR ORIGINAL INK CARTRIDGE (0)	4 EACH	\$27.38	\$109.52
	Packaging: Original OEM				J
	MFG/Brand: Product No:	Hewlett Packard	_		
		F6U61AN	•		
	Variances, if a	any:	-		
57	HP #63 BLACK STANDARD YIELD INK CARTRIDGE (#F6U62AN #140)		4 EACH	\$19.97	\$79.88
	Packaging:	Original OEM	_	L	<u> </u>
	MFG/Brand:	Hewlett Packard	<u>.</u>		
	Product No:	F6U62AN	-		
	Variances, if a	any:			
58	HP #64 BLACK	INK CARTRIDGE (N9J90AN #140)	6 EACH	\$17.71	\$106.26
	Packaging:	Original OEM	-		
	MFG/Brand:	Hewlett Packard	•		
	Product No:	N9J90AN	-		•
	Variances, if a	any:	<u> </u>		
59	HP #64 TRI-CO (N9J89AN #140	LOR STANDARD YEILD INK CARTRIDGE ))	20 EACH	\$21.69	\$433.80
	Packaging:	Original OEM	_		1
	MFG/Brand:	Hewlett Packard	_		
	Product No:	NAGBLEN	_		
	Variances, if a	anv:	_		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER PRINTER CARTRIDGES FOR VARIOUS PRINTERS FOR VARIOUS MONMOLITH COUNTY DEPARTMENTS ON-CALL AS NEEDED FOR THE PERIOD JANUARY 1, 2024

		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
60	HP #962 BLACF (#3HZ99AN #14	( STANDARD YIELD INK CARTRIDGE 0)	2 EACH	\$29.60	\$59.20
	Dookoging	Original OEM		<u>.                                    </u>	<u> </u>
	Packaging: MFG/Brand:	Hewlett Packard	-		
	Product No:	3HZ99AN			
	Variances, if a	any:	-		
61	HP #962 YELLO (#3HZ98AN #14	OW STANDARD YIELD INK CARTRIDGE 0)	10 EACH	\$20.36	\$203.60
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	<u>-</u>		
	Product No:	3HZ98AN	-		
	Variances, if a	any:	-		
62	HP #962 MAGE (#3HZ97AN #14	NTA STANDARD YIELD INK CARTRIDGE 0)	2 EACH	\$20.36	\$40.72
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand:	Hewlett Packard	_		
	Product No:	3HZ97AN	- -		
	Variances, if a	any:	-		
63	HP #962 CYAN (#3HZ96AN #14	STANDARD YIELD INK CARTRIDGE 0)	8 EACH	\$20.36	\$162.88
	D	Original OEM			
	Packaging:	Hewlett Packard	-		
	MFG/Brand: Product No:	3HZ96AN	-		
	Variances, if a	anv.	-		

#### RFB# F-33-2024

## **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
64	HEWLETT PACKARD DESKJET AND INKJET PRINTER CARTRIDGES NOT LISTED:		-10%	\$450
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:  C41A			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500.00			
	LESS DISCOUNT OF 10 % OFF (IF ANY) (-\$)			
	NET COST TO COUNTY (ESTIMATED) \$_\$450.00 *			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT Packaging: Original OEM			
	MFG/Brand: Hewlett Packard	<del>-</del> 		
	Product No: Inkjet Cartridges	_		
	Variances, if any:	4.4	• a h	4 - 28455 - 1 1
HEWL	ETT PACKARD LASERJET PRINTER CARTRIDGES			4 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
65	HP LASER JET #05A BLACK PRINTER CARTRIDGE (#CE505A)	14 EACH	\$93.41	\$1,307.74
	Packaging:  MFG/Brand: Product No:  Variances, if any:  Original OEM  Hewlett Packard  CE505A  Variances, if any:	_ _ _ _		
66	HP LASER JET #05X BLACK PRINTER CARTRIDGE (#CE505X)	40 EACH	\$171.36	\$6,854.40
	Packaging: Original OEM	_	I	
	MFG/Brand: Hewlett Packard CE505X	_		
	Variances, if any:	_ _		

#### RFB# F-33-2024

## **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
67	HP LASER JET (#Q2610A)	#10A BLACK PRINTER CARTRIDGE	12 EACH	\$68.25	\$819.00
	Packaging:	Original OEM		1	
	MFG/Brand:	Hewlett Packard	<del></del>	•	
	Product No:	Q2610A	<u> </u>		
	Variances, if	any:	<u> </u>		
68	HP LASER JET (#Q6511A)	#11A BLACK PRINTER CARTRIDGE	17 EACH	\$52.50	\$892.50
	Packaging:	Original OEM		l	_l
	MFG/Brand:	Hewlett Packard			
	Product No:	Q6511A	<del></del>		
	Variances, if	any:			
69	HP LASER JET #12A BLACK PRINTER CARTRIDGE (#Q2612A)		8 EACH	\$82.14	\$657.12
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand:	Hewlett Packard			
	Product No:	Q2612A	<u> </u>		
	Variances, if any:				
70	HP LASER JET (#Q2613A)	#13A BLACK PRINTER CARTRIDGE	4 EACH	\$42.00	\$168.00
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	Q2613A			
	Variances, if	any:			
71	HP LASER JET (#Q7115A)	#15A BLACK PRINTER CARTRIDGE	14 EACH	\$78.75	\$1,102.50
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard		•	
	Product No:	Q7115A			
	Variances, if	anv.			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
72	HP LASERJET (#CF217A)	#17A BLACK PRINTER CARTRIDGE	4 EACH	\$64.73	\$258.92
	Packaging:	Original OEM			_L
	MFG/Brand:	Hewlett Packard			
	Product No:	CF217A	<del></del>		
	Variances, if a	any:	<u> </u>		
73	HP LASER JET (#CF325X)	#25X BLACK PRINTER CARTRIDGE	21 EACH	\$304.92	\$6,403.32
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	CF325X			
	Variances, if a	any:			
74	HP LASER JET #26X BLACK PRINTER CARTRIDGE (#CF226X)		70 EACH	\$207.35	\$14,514.50
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard	<u> </u>		
	Product No:	CF226X	·		
	Variances, if any:				
75	HP LASER JET (#Q4127X)	#27X BLACK PRINTER CARTRIDGE	2 EACH	\$94.50	\$189.00
	Packaging:	Original OEM		<u>L</u>	<u>[</u>
	MFG/Brand:	Hewlett Packard			
	Product No:	C4127X			
	Variances, if a	any:	<del></del>		
76	HP LASER JET (#CF230A)	#30A BLACK PRINTER CARTRIDGE	10 EACH	\$65.70	\$657.00
	Packaging:	Original OEM		. L.	<u> </u>
	MFG/Brand:	Hewlett Packard			
	Product No:	CF230A			
	Variances, if a	anv: ———	<u></u>		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
77	HP LASER JET	#32A IMAGING DRUM (#CF232A)	2 EACH	\$88.37	\$176.74
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard			
	Product No:	CF232A	<u> </u>		
	Variances, if	any:	_		
78	HP LASERJET	#35A BLACK (#CB435A)	8 EACH	\$71.48	\$571.84
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	CB435A	<del></del>		
	Variances, if	any:	<del></del>		
79	HP LASER JET (#CB436A)	#36A BLACK PRINTER CARTRIDGE	8 EACH	\$82.14	\$657.12
	Packaging:	Original OEM	_		
	MFG/Brand:	Hewlett Packard			
	Product No:	CB436A	<del></del>		
	Variances, if	any:	<del>_</del>		
80	HP LASER JET	#37A BLACK TONER (#CF237A)	57 EACH	\$181.48	\$10,344.36
	Dli	Original OEM			i
	Packaging: MFG/Brand:	Hewlett Packard			
	Product No:	CF237A			
	Variances, if	any:	<u>-</u>		
81	HP LASER JET (#CF237X)	#37X BLACK PRINTER CARTRIDGE	66 EACH	\$281.00	\$18,546.00
	Packaging:	Original OEM			1
	MFG/Brand:	Hewlett Packard	<u></u>		
	Product No:	CF237X	<del></del>		
	Variances, if				

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
82	HP LASER JET (#Q5942A)	#42A BLACK PRINTER CARTRIDGE	4 EACH	\$193.35	\$773.40
	Packaging:	Original OEM			_
	MFG/Brand:	Hewlett Packard :	_		
	Product No:	Q5942A	<del></del>		
	Variances, if a	any:	_		
83	HP LASER JET (#Q8543X)	#43X BLACK PRINTER CARTRIDGE	9 EACH	\$325.00	\$2,925.00
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	_		
	Product No:	C8543X	<del></del>		
	Variances, if a	any:	<del>-</del>		
84	HP LASER JET (#Q5949A)	#49A BLACK PRINTER CARTRIDGE	9 EACH	\$106.22	\$955.98
	Packaging:	Original OEM			
	MFG/Brand: Product No:	Hewlett Packard			
		Q5949A	<del></del>		
	Variances, if a	any:	_		
85	HP LASER JET (#Q7551A)	#51A BLACK PRINTER CARTRIDGE	14 EACH	\$145.60	2,038.40
	Packaging:	Original OEM			1
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	Q7551A	<del></del>		
	Variances, if a	any:	<del>_</del>		
86	HP LASER JET (#CE255X)	#55X BLACK LASER JET CARTRIDGE	208 EACH	\$239.61	\$49,838.88
	Packaging:	Original OEM	_	<u> </u>	<u> </u>
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CE255X		•	
	Variances, if a	Am ()			•

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
87	HP LASER JET #5 (#CF258A)	8A BLACK TONER CARTRIDGE	44 EACH	\$101.23	\$4,454.12
	Packaging: O	riginal OEM		L	<u> </u>
	rackaging. —	ewlett Packard	<del>_</del>		
	Product No:	CF258A	<del></del>		
	Variances, if any	•	<del>_</del>		
88	HP LASER JET #5 (#CF258X)	8X BLACK TONER CARTRIDGE	14 EACH	\$212.02	\$2,968.28
	Packaging: Original OEM		<u>.</u> .		<b>L</b>
		ewlett Packard			
	Product No:	CF258X	<del></del>		
	Variances, if any	· · · · · · · · · · · · · · · · · · ·	_		
89	HP LASER JET #64A BLACK PRINTER CARTRIDGE		65 EACH	\$181.60	\$11,804.00
	(#CC364A)				,
					1
	rackaging. —	riginal OEM			
	WIFG/DIANG	ewlett Packard			
	Product No:	CC364A			
	Variances, if any	·	<del>_</del>		
90	HP LASER JET #7 (#CE278A)	8A BLACK PRINTER CARTRIDGE	4 EACH	\$82.70	\$330.80
	Packaging: O	riginal OEM			
		ewlett Packard			
	Product No:	E278A			
	Variances, if any	:	<del></del>		
91	HP LASER JET #8 (#CF280A)	0A BLACK PRINTER CARTRIDGE	9 EACH	\$108.14	\$973.26
	Packaging: ○	riginal OEM .			
		ewlett Packard	_		
		F280A	<del>-</del>		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
92	HP LASER JET #80X BLACK PRINTER CARTRIDGE (#CF280X)	4 EACH	\$186.18	\$744.72
	Packaging: Original OEM			<b>!</b>
	MFG/Brand: Hewlett Packard			
	Product No: CF280X			
	Variances, if any:			
93	HP LASER JET #81A BLACK PRINTER CARTRIDGE (#CF281A)	65 EACH	\$179.93	\$11,695.45
	Packaging: Original OEM			<u> </u>
	MFG/Brand: Hewlett Packard			
	Product No: CF281A			
	Variances, if any:			
94	HP LASER JET #81X BLACK PRINTER CARTRIDGE (#CF281X)	23 EACH	\$299.23	\$6,882.29
	Packaging: Original OEM			_l
	MFG/Brand: Hewlett Packard	<del></del>		
	Product No: CF281X			
	Variances, if any:			
95	HP LASER JET #87X BLACK PRINTER CARTRIDGE (#CF287A)	4 EACH	\$306.58	\$1,226.32
	Packaging: Original OEM			1
	MFG/Brand: Hewlett Packard	<del></del>		
	Product No: CF287A			
	Variances, if any:	<del></del>		
96	HP LASER JET #89A BLACK TONER CARTRIDGE (#CFZ89A)	3 EACH	\$144.17	\$432.51
	Packaging: Original OEM		L	1
	MFG/Brand: Hewlett Packard	<del></del>		
	Product No: CF289A			
	Variances, if any:			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
97	HP LASER JET (#CE390A)	#90A BLACK TONER CARTRIDGE	17 EACH	\$181.52	\$3,085.84
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CE390A	<del>.</del> -		
	Variances, if a	any:	-		
98	HP LASER JET (#CE390X)	#90X BLACK PRINTER CARTRIDGE	36 EACH	\$303.37	\$10,921.32
	Packaging: Original OEM				<u> </u>
	MFG/Brand:	Hewlett Packard	•		
	Product No:	CE390X	- -		
	Variances, if any:		-		
99	HP LASER JET #96A BLACK PRINTER CARTRIDGE (#C4096A)		7 EACH	\$32.00	\$224.00
	Packaging:	Original OEM		:	<u> </u>
	MFG/Brand: Product No:	Hewlett Packard	_		
		C4096A	- -		
	Variances, if any:		-		
100	HP LASERJET (#W1470A)	#147A BLACK TONER CARTRIDGE	27 EACH	\$177.21	\$4,784.67
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand:	Hewlett Packard			
	Product No:	W1470A	- <del>-</del>		
	Variances, if a	any:			
101		#147X BLACK TONER CARTRIDGE, HIGH PAGE YEILD (#W1470X)	2 EACH	\$284.59	\$569.18
	Packaging:	Original OEM		L	.1
	MFG/Brand:	Hewlett Packard	-		
	Product No:	W1470X	•		
	Variances, if any:		_		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
102		#147Y BLACK TONER CARTRIDGE, EILD, 42,000 PAGE YEILD (#W1470Y)	2 EACH	\$391.80	\$783.60
	Packaging:	Original OEM	_	<u></u>	<u>.l</u>
	MFG/Brand:	Hewlett Packard	_		
	Product No:	W1470Y	-		
	Variances, if a	any:	-		
103	HP LASER JET (#CC530A)	#304A BLACK PRINTER CARTRIDGE	11 EACH	\$50.00	\$550.00
	Packaging:	Original OEM	_		.l
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CC530A	- -		
	Variances, if a	any:	-		
104	HP LASER JET (#CC531A)	#304A CYAN PRINTER CARTRIDGES	11 EACH	\$50.00	\$550.00
	Packaging:	Original OEM	_		
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CC531A	_		
	Variances, if a	any:	-		
105	HP LASER JET (#CC532A)	#304A YELLOW PRINTER CARTRIDGE	11 EACH	\$50.00	\$550.50
	Packaging:	Original OEM			L
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CC532A	-		
	Variances, if a	any: ————————————————————————————————————	-		
106	HP LASER JET (#CC533A)	#304A MAGENTA PRINTER CARTRIDGE	11 EACH	\$50.00	\$550.50
	Packaging:	Original OEM	_	L	1
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CC533A	<del>-</del> -		
	Product No: Cossa Variances, if any:				•

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
107	HP LASER JET # (#CE410A)	\$305A BLACK PRINTER CARTRIDGE	8 EACH	\$88.35	\$706.80
	Packaging:	Original OEM		L	<u> </u>
	i ackaying.	Hewlett Packard	-		
	Product No:	CE410A	- -		
	Variances, if ar	ny:	<b>-</b>		
108	HP LASER JET # (#CE411A)	#305A CYAN PRINTER CARTRIDGE	8 EACH	\$125.86	\$1,006.88
	Packaging: -	Original OEM	_		ļ
		Hewlett Packard	-		
	Product No:	CE411A	-		
	Variances, if ar	ny:	•		
109	HP LASER JET # (#CE413A)	#305A MAGENTA PRINTER CARTRIDGE	8 EACH	\$125.86	\$1,006.88
	Packaging: -	Original OEM			
		Hewlett Packard	<u>-</u> -		
	Product No:	CE413A	•		
	Variances, if ar	ny:	•		
110	HP LASER JET # (#CE412A)	#305A YELLOW PRINTER CARTRIDGE	8 EACH	\$125.86	\$1,006.88
	Packaging: -	Original OEM			
		Hewlett Packard	-		
	Product No:	CE412A	-		
	Variances, if ar	ny:	•		
111	HP LASER JET # (#CE740A)	#307A BLACK PRINTER CARTRIDGE	5 EACH	\$159.75	\$798.75
	Packaging: -	Original OEM	_		<u> </u>
		Hewlett Packard	-		
	Product No:	CE740A	•		
	Variances, if ar	w:	_		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
112	HP LASER JET (#CE741A)	#307A CYAN PRINTER CARTRIDGE	5 EACH	\$281.41	\$1,407.05
	Packaging:	Original OEM	. •		, I
	MFG/Brand:	Hewlett Packard	• -	* *	
	Product No:	CE741A	<del>-</del> -		
	Variances, if	any: ———	-		
113	HP LASER JET (#CE743A)	#307A MAGENTA PRINTER CARTRIDGE	5 EACH	\$281.41	\$1,407.05
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE743A	-		
	Variances, if	any: ———————	_		
114	HP LASER JET (#CE742A)	#307A YELLOW PRINTER CARTRIDGE	5 EACH	\$281.41	\$1,407.05
	Packaging:	Original OEM	_		
	MFG/Brand:	Hewlett Packard			
	Product No:	CE742A	- •		
	Variances, if a	any:	-		
115	HP LASER JET (#Q7560A)	#314A BLACK PRINTER CARTRIDGE	12 EACH	\$115.50	\$1,386.00
	Packaging:	Original OEM	_	<u> </u>	i
	MFG/Brand:	Hewlett Packard	_		
	Product No:	Q7560A	-		
	Variances, if a	any:	-		
116	HP LASER JET (#Q7561A)	#314A CYAN PRINTER CARTRIDGE	12 EACH	\$115.50	\$1,386.00
	Packaging:	Original OEM	_	L	1
	MFG/Brand:	Hewlett Packard	•		
	Product No:	Q7561A	-		
	Variances, if a	anv. ————————	_		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTI	TY/UNIT	UNIT PRICE	TOTAL PRICE
117	HP LASER JET (#Q7563A)	#314A MAGENTA PRINTER CARTRIDGE	12	EACH	\$115.50	\$1,386.00
	Packaging:	Original OEM			<u> </u>	<b></b>
	MFG/Brand:	Hewlett Packard	-			
	Product No:	Q7563A	• •			
	Variances, if a	any:	-			
118	HP LASER JET (#Q7562A)	#314A YELLOW PRINTER CARTRIDGE	12	EACH	\$115.50	\$1,386.00
	Packaging:	Original OEM				
	MFG/Brand:	Hewlett Packard	•			
	Product No:	Q7562A				
	Variances, if a	any:	-			
119	HP LASER JET (#CF410A)	#410A BLACK PRINTER CARTRIDGE	60	EACH	\$89.95	\$5,397.00
	Dockoging	Original OEM				- <b>l</b>
	Packaging: MFG/Brand:	Hewlett Packard	•			
	Product No:	CF410A				
	Variances, if a	any:				
120	HP LASER JET (#CF411A)	#410A CYAN PRINTER CARTRIDGE	60	EACH	\$116.18	\$6,970.80
	Dookoging	Original OEM				<u>.                                    </u>
	Packaging: MFG/Brand:	Hewlett Packard	•			
	Product No:	CF411A	•			
	Variances, if a	any:	•			
121	HP LASER JET (#CF413A)	#410A MAGENTA PRINTER CARTRIDGE	60	EACH	\$116.18	\$6,970.80
	Packaging:	Original OEM				1
	MFG/Brand:	Hewlett Packard	•			
	Product No:	CF413A	•			
	Variances, if a	any:				

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
122	HP LASER JET (#CF412A)	#410A YELLOW PRINTER CARTRIDGE	60 EACH	\$116.18	\$6,970.80
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	CF412A	<del>-</del> -		
	Variances, if	any:	_		
123	HP LASER JET (#W2021A)	#414A CYAN TONER CARTRIDGE	11 EACH	\$105.72	\$1,162.92
	Packaging:	Original OEM		L	<u></u>
	MFG/Brand:	Hewlett Packard	_		
	Product No:	W2021A	<del>-</del>		
	Variances, if a	any:	_		
124	HP LASER JET (#W2020A)	#414A BLACK TONER CARTRIDGE	11 EACH	\$81.70	\$898.70
	Poekoging:	Original OEM		<u> </u>	
	Packaging: MFG/Brand:	Hewlett Packard	<b>-</b>		
	Product No:	W2020A	<del>-</del>		
	Variances, if a	any:	_		
125	HP LASER JET (#W2022A)	#414A YELLOW TONER CARTRIDGE	11 EACH	\$105.72	\$1,162.92
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard	_		
	Product No:	W2022A	- -		
	Variances, if a	any: ——	_		
126	HP LASER JET (#W2023A)	#414A MAGENTA TONER CARTRIDGE	11 EACH	\$105.72	\$1,162.92
	Packaging:	Original OEM	_		<u></u>
	MFG/Brand:	Hewlett Packard	_		
	Product No:	W2023A	<del>-</del>		
	Variances, if a	anv:			,

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
127	HP LASER JET (#W2020X)	#414X BLACK TONER CARTRIDGE	7 EACH	\$165.33	\$1,157.31
	Packaging:	Original OEM	_	L	J
	MFG/Brand:	Hewlett Packard			
	Product No:	W2020X	_		
	Variances, if a	any:	_		
128	HP LASER JET (#W2021X)	#414X CYAN TONER CARTRIDGE	7 EACH	\$225.88	\$1,581.16
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	<b>-</b> 		
	Product No:	W2021X			
	Variances, if a	any:	-		
129	HP LASER JET (#W2023X)	#414X MAGENTA TONER CARTRIDGE	7 EACH	\$225.88	\$1,581.16
	Packaging:	Original OEM		L	
	MFG/Brand:	Hewlett Packard	_		
	Product No:	W2023X	<u> </u>		
	Variances, if a	any:	_		
130	HP LASER JET (#W2022X)	#414X YELLOW TONER CARTRIDGE	7 EACH	\$225.88	\$1,581.16
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	_		
	Product No:	W2022X			
	Variances, if a	any:	_		
131	HP LASER JET (#C6470A)	#501A BLACK PRINTER CARTRIDGE	9 EACH	\$89.25	\$803.25
	Packaging:	Original OEM		L	.1
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	Q6470A	<del>-</del> -		
	Variances, if a	any:	_		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
132	HP LASER JET (#C6471A)	#501A CYAN PRINTER CARTRIDGE	9 EACH	\$194.25	\$1,748.25
	Packaging:	Original OEM	_		
	MFG/Brand:	Hewlett Packard	_	•	
	Product No:	Q6471A	_		
	Variances, if	any: —	-		
133	HP LASER JET (#C6473A)	#501A MAGENTA PRINTER CARTRIDGE	9 EACH	\$194.25	\$1,748.25
	Packaging:	Original OEM			<u>l</u>
	MFG/Brand:	Hewlett Packard	_		
	Product No:	Q6473A	- -		
	Variances, if a	any: ————	<u>-</u>		
134	HP LASER JET #501A YELLOW PRINTER CARTRIDGE (#C6472A)		9 EACH	\$194.25	\$1,748.25
	Packaging:	Original OEM			1
	MFG/Brand:	Hewlett Packard	-		
	Product No:	Q6472A	- -		
	Variances, if a	any:	-		
135	HP LASER JET (#CE400A)	#507A BLACK PRINTER CARTRIDGE	7 EACH	\$156.51	\$1,095.57
	Packaging:	Original OEM	_	L	
	MFG/Brand:	Hewlett Packard	_		
	Product No: CE400A		- -		
	Variances, if a	any:	-		
136	HP LASER JET (#CE401A)	#507A CYAN PRINTER CARTRIDGE	7 EACH	\$233.16	\$1,632.12
	Packaging:	Original OEM	_	L	<u> </u>
	MFG/Brand:	Hewlett Packard	<del>-</del> -		
	Product No:	CE401A	<del>-</del> -		
		any:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
137	HP LASER JET (#CE403A)	#507A MAGENTA PRINTER CARTRIDGE	7 EACH	\$233.16	\$1,632.12
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE403A	•		
	Variances, if a	any: —	-		
138	HP LASER JET (#CE402A)	#507A YELLOW PRINTER CARTRIDGE	7 EACH	\$233.16	\$1,632.12
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	•		
	Product No:	CE402A	- -		
	Variances, if a	any:	_		
139	HP LASER JET (#CF360A)	#508A BLACK PRINTER CARTRIDGE	10 EACH	\$162.16	\$1,621.60
	Packaging:	Original OEM	_		
	MFG/Brand:	Hewlett Packard	<u>-</u>		
	Product No:	CF360A	•		
	Variances, if a	any:	•		
140	HP LASER JET (#CF361A)	#508A CYAN PRINTER CARTRIDGE	10 EACH	\$203.31	\$2,033.10
	Packaging:	Original OEM			1
	MFG/Brand:	Hewlett Packard	•		
	Product No:	CF361A	- -		
	Variances, if a	any:	-		•
141	HP LASER JET (#CF363A)	#508A MAGENTA PRINTER CARTRIDGE	10 EACH	\$203.31	\$2,033.10
	Packaging:	Original OEM			
	Раскадіng: MFG/Brand:	Hewlett Packard	•		
	Product No:	CF363A	•		
	Variances, if a				

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
142	HP LASER JET (#CF362A)	#508A YELLOW PRINTER CARTRIDGE	10 EACH	\$203.31	\$2,033.10
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CF362A	-		
	Variances, if a	any:	-		
143	HP LASER JET (#CE260A)	#647A BLACK PRINTER CARTRIDGE	10 EACH	\$115.50	\$1,155.00
	Packaging:	Original OEM	_	<u> </u>	
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CE260A	- -		
	Variances, if a	any:	-		
144	HP LASER JET (#CE261A)	#648A CYAN PRINTER CARTRIDGE	10 EACH	\$115.50	\$1,155.00
	Packaging:	Original OEM	_		<u>I</u>
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CE261A	_ `		
	Variances, if a	any:	_		
145	HP LASER JET (#CE262A)	#648A YELLOW PRINTER CARTRIDGE	10 EACH	\$115.50	\$1,155.00
	Packaging:	Original OEM		L	<u>.l.</u> .
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE262A	- -		
	Variances, if a	any:	_		
146	HP LASER JET (#CE263A)	#648A MAGENTA PRINTER CARTRIDGE	10 EACH	\$115.50	\$1,155.00
	Packaging:	Original OEM		<u> </u>	.1
	MFG/Brand:	Hewlett Packard	-	•	
	Product No:	CE263A	<del>-</del> -		
		any:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
147	HP LASER JET (#CE270A)	#650A BLACK PRINTER CARTRIDGE	6 EACH	\$261.12	\$1,566.72
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE270A	_		
	Variances, if	any:	- -		
148	HP LASER JET (#CE271A)	#650A CYAN PRINTER CARTRIDGE	6 EACH	\$424.94	\$2,549.64
	Packaging:	Original OEM			<u>.l</u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE271A	<del>-</del> -		
	Variances, if	any: ————	-		
149	HP LASER JET (#CE272A)	#650A YELLOW PRINTER CARTRIDGE	6 EACH	\$424.94	\$2,549.64
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE272A	- -		
	Variances, if a	any: —————			
150	HP LASER JET (#CE273A)	#650A MAGENTA PRINTER CARTRIDGE	6 EACH	\$424.94	\$2,549.64
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE273A	-		
	Variances, if a	any: ————————————————————————————————————	-		
151	HP LASER JET (#CE340A)	#651A BLACK PRINTER CARTRIDGE	2 EACH	\$181.66	\$363.32
	Packaging:	Original OEM	_		1
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE340A			
	Variances, if a	anv. ————————————————————————————————————	-		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
152	HP LASER JET (#CF341A)	#651A CYAN PRINTER CARTRIDGE	2 EACH	\$457.36	\$914.72
	Packaging:	Original OEM			_1
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE341A	_		
	Variances, if	any:	-		
153	HP LASER JET (#CF343A)	#651A MAGENTA PRINTER CARTRIDGE	2 EACH	\$457.36	\$914.72
	Da also sia se	Original OEM			l
	Packaging: MFG/Brand:	Hewlett Packard	-		
	Product No:	CE343A	-		
	Variances, if	any:	-		
154	HP LASER JET #651A YELLOW PRINTER CARTRIDGE (#CF342A)		2 EACH	\$457.36	\$914.72
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CE342A	<u>-</u> -		
	Variances, if a	any: —————	-		
155	HP LASER JET (#CF450A)	#655A BLACK PRINTER CARTRIDGE	11 EACH	\$211.49	\$2,326.39
	Dookooine	Original OEM			
	Packaging: MFG/Brand:	Hewlett Packard	-		
	Product No:	CF450A	<u>.</u>		
	Variances, if	any: ————————————————————————————————————	-		
156	HP LASER JET (#CF451A)	#655A CYAN PRINTER CARTRIDGE	11 EACH	\$262.71	\$2,889.81
	Packaging:	Original OEM		L	1
	MFG/Brand:	Hewlett Packard	_		
	Product No:	CF451A	-		
	Variances, if a	anu.			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
157	HP LASER JET (#CF453A)	#655A MAGENTA PRINTER CARTRIDGE	11 EACH	\$262.71	\$2,889.81
	Packaging:	Original OEM			<u> l </u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CF453A	<del>.</del>		
	Variances, if a	any:	-		
158	HP LASER JET (#CF452A)	#655A YELLOW PRINTER CARTRIDGE	11 EACH	\$262.71	\$2,889.81
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand;	Hewlett Packard	-		
	Product No:	CF452A	•		
	Variances, if a	any:	-		
159	HP LASER JET (#CB380A)	#823A BLACK PRINTER CARTRIDGES	4 EACH	\$228.68	\$914.72
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand:	Hewlett Packard	-		
	Product No:	CB380A	•		
	Variances, if a	any:	-		
160	HP LASER JET (#CB382A)	#824A YELLOW PRINTER CARTRIDGE	4 EACH	\$357.99	\$1,431.96
	Packaging:	Original OEM			_!
	MFG/Brand:	Hewlett Packard			
	Product No:	CB382A	•		
	Variances, if a	any:			
161	HP LASER JET (#CB381A)	#824A CYAN PRINTER CARTRIDGE	4 EACH	\$357.99	\$1,431.96
	Dackagina:	Original OEM			<u> </u>
	Packaging: MFG/Brand:	Hewlett Packard	•		
	Product No:	CB381A	•		
	i iouuotivo.		<u>-</u>		

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
162	HP LASER JET #824A MAGENTA PRINTER CARTRIDGES (#CB383A)	4 EACH	\$357.99	\$1,431.96
	Packaging: Original OEM			1
	MFG/Brand: Hewlett Packard			
	Product No: CB383A	<del></del>		
	Variances, if any:			
163	HP LASER JET #826A BLACK PRINTER CAR (#CF310A)	TRIDGE 3 EACH	\$328.43	\$985.29
	Packaging: Original OEM		L	<u> </u>
	MFG/Brand: Hewlett Packard	<u> </u>		
	Product No: CF310A			
	Variances, if any:			
164	HP LASER JET #826A CYAN PRINTER CART (#CF311A)	TRIDGE 3 EACH	\$539.26	\$1,617.78
	Packaging: Original OEM		L	J
	MFG/Brand: Hewlett Packard	<del></del>		
	Product No: CF311A			
	Variances, if any:			
165	HP LASER JET #826A MAGENTA PRINTER ( (#CF313A)	CARTRIDGE 3 EACH	\$539.26	\$1,617.78
	Packaging: Original OEM			1
	MFG/Brand: Hewlett Packard			
	Product No: CF313A			
	Variances, if any:			
166	HP LASER JET #826A YELLOW PRINTER CA (#CF312A)	ARTRIDGE 3 EACH	\$539.26	\$1,617.78
	Packaging: Original OEM		L	
	MFG/Brand: Hewlett Packard			
	Product No: CF312A			
	Variances, if any:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
167	HP LASER DRU	JM #HP 828A BLACK (#CF358A)	3 EACH	\$99.35	\$298.05
	Packaging:	Original OEM			<u>.l</u> .
	MFG/Brand:	Hewlett Packard	<del>_</del>		
	Product No:	CF358A	<del>_</del>		
	Variances, if a	any:	<del>_</del>		
168	HP LASER DRU	JM #HP 828A CYAN (#CF359A)	3 EACH	\$274.86	\$824.58
	Packaging:	Original OEM			
	MFG/Brand:	Hewlett Packard	<del></del>		
	Product No:	CF359A	<del></del>		
	Variances, if a	any:	_		
169	HP LASER DRU	JM #HP 828A YELLOW (#CF364A)	3 EACH	\$274.86	\$824.58
	Dooleaning	Original OEM			
	Packaging: MFG/Brand:	Hewlett Packard	<del>-</del>		
	Product No:	CF364A	<del>_</del>		
	Variances, if a	any:	_		
70	HP LASER DRU	JM #HP 828A MAGENTA (#CF365A)	3 EACH	\$274.86	\$824.58
		Original OEM			
	Packaging:	Hewlett Packard	<del>_</del>		
	MFG/Brand:	CF365A	<del>_</del> .		
	Product No: Variances, if a	<u> </u>	<del>-</del> -		
171	HP LASER JET (#CB540A)	#1518 BLACK PRINTER CARTRIDGE	2 EACH	\$83.51	\$167.02
	Packaging:	Original OEM	_		<u> </u>
	MFG/Brand:	Hewlett Packard			
	Product No:	CB540A	_ _		
	Variances, if a				

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
172	HP LASER JET (#CB541A)	#1518 CYAN PRINTER CARTRIDGE	2 EACH	\$76.76	\$153.52
	Packaging:	Original OEM		<u> </u>	<u> </u>
	MFG/Brand:	Hewlett Packard	•		
	Product No:	CB541A	•		
	Variances, if a	any: ———	-		
173	HP LASER JET (#CB543A)	#1518 MAGENTA PRINTER CARTRIDGE	2 EACH	\$76.76	\$153.52
	Packaging:	Original OEM		<u>l</u>	
	MFG/Brand:	Hewlett Packard	•		
	Product No:	CB543A	•		
	Variances, if a	any:	•		
174	HP LASER JET #1518 YELLOW PRINTER CARTRIDGE (#CB542A)		2 EACH	\$76.76	\$153.52
	Packaging: MFG/Brand: Product No: Variances, if a	Original OEM Hewlett Packard CB542A any:	• • •	L	.
 175	HP MICRO TON	IER CARTRIDGE #2055	4 EACH	\$201.24	\$804.96
		Original OEM			
	Packaging:	Troy-MICR	•		
	MFG/Brand: Product No:	02-81500-001	-		
	Variances, if a		•		
176	HP LASER JET (#CB400A)	#HP4005 BLACK TONER CARTRIDGE	2 EACH	\$262.50	\$525.00
	Doeles =!= =:	Original OEM			_l
	Packaging: MFG/Brand:	Hewlett Packard	•		
	Product No:	CB400A	•		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
177	HP LASER JET # (#CB401A)	HP4005 CYAN TONER CARTRIDGE	2 EACH	\$115.50	\$231.00
	Packaging:	Original OEM			<u> </u>
	i donaging. –	lewlett Packard	•		
		CB401A	•		
	Variances, if an	y:			
178	HP LASER JET # (#CB402A)	HP4005 YELLOW TONER CARTRIDGE	2 EACH	\$115.50	\$231.00
	Packaging:	riginal OEM			<u> </u>
	rackauliu. =	lewlett Packard	•		
		CB402A	•		
	Variances, if an	y:			
179	HP LASER JET #HP4005 MAGENTA TONER CARTRIDGE (#CB403A)		2 EACH	\$115.50	\$231.00
	Packaging:	Original OEM			J
	MFG/Brand:	lewlett Packard	•		
		CB403A	•		
	Variances, if an	y:	•		
180		URITY MICR HIGH YIELD TONER RS-02-888000-01)	4 EACH	\$558.83	\$2,235.32
	Packaging: (	Original OEM			<u>.l</u>
	MFG/Brand:	roy MICR	•		
	Product No:	2-88000-001			
	Variances, if an	y: <del></del>			
181	HP LASER JET #	M102 (#CF217A)	4 EACH	\$64.73	\$258.92
	Dookosins. O	riginal OEM			
	i achaging	lewlett Packard			
	IVII G/DIANU. =	CF217A			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
182	HP COLOR LAS (W2010)	SER JET ENTERPRISE #M856 BLACK	6 EACH	\$157.34	\$944.04
	Packaging:	Original OEM		<u> </u>	<u></u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	W2010A	- -		
	Variances, if	any: ————————————————————————————————————	-		
183	HP COLOR LAS (W2011)	SER JET ENTERPRISE #M856 CYAN	6 EACH	\$354.92	\$2,129.52
	Packaging:	Original OEM		L	_1
	MFG/Brand:	Hewlett Packard	-		
	Product No:	W2011A	• •		
	Variances, if	any: —————	-		
184	HP COLOR LASER JET ENTERPRISE #M856 YELLOW (W2012)		6 EACH	\$354.92	\$2,129.52
	Dooleagings	Original OEM			1
	Packaging: MFG/Brand:	Hewlett Packard	•		
	Product No:	W2012A	<del>-</del> -		
	Variances, if a	any: ————————————————————————————————————	-		
185	HP COLOR LAS (W2013)	SER JET ENTERPRISE #M856 MAGENTA	6 EACH	\$354.92	\$2,129.52
	Packaging:	Original OEM			<u>l</u>
	MFG/Brand:	Hewlett Packard	-		
	Product No:	W2013A	<del>.</del>		
	Variances, if	any: ———————	-		
186	HP COLOR LAS (W2120)	SER JET ENTERPRISE #M555X BLACK	6 EACH	\$157.50	\$946.20
	Packagina:	Original OEM			<u>.                                    </u>
	Packaging: MFG/Brand:	Hewlett Packard	-		
	Product No:	W2120A	<del>-</del> -		

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
187	HP COLOR LASER JET ENTERPRISE #M555X CYAN (W2121)	6 EACH	\$197.58	\$1,185.48
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard			
	Product No: W2121A			
	Variances, if any:			
188	HP COLOR LASER JET ENTERPRISE #M555X YELLOW (W2122)	6 EACH	\$197.58	\$1,185.48
	Poekosing: Original OEM			
	Packaging: Original OEM  MFG/Brand: Hewlett Packard	<del></del>		
	Product No: W2122A			
	Variances, if any:			
189	HP COLOR LASER JET ENTERPRISE #M555X MAGENTA (W2123)	A 6 EACH	\$197.58	\$1,185.48
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard	<del></del>		
	Product No: W2123A			
	Variances, if any:			
190	HP LASER JET #652A BLACK PRINTER CARTRIDGE (#CF320A)	6 EACH	\$218.13	\$1,308.78
	Packaging: Original OEM			
	Packaging: Original OEM  MFG/Brand: Hewlett Packard			
	Product No: CF320A	<del></del>		
	Variances, if any:	<del></del>		
191	HP LASER JET #652A CYAN PRINTER CARTRIDGE (#CF331A)	6 EACH	\$397.76	\$2,386.56
	Packaging: Original OEM			
	Packaging: Original OEM MFG/Brand: Hewlett Packard			
	Product No: CF331A	<del></del>		
	Variances, if any:			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

(#CF332A)  Packaging: Original OEM  MFG/Brand: Hewlett Packard  Product No: CF332A  Variances, if any:	TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
Hewlett Packard   Hewlett Packard   Product No:   GE332A     193   HP LASER JET #652A MAGENTA PRINTER CARTRIDGE   6 EACH   \$397.76   \$2,386.56     (#CF333A)   Packaging:   MFG/Brand:   Hewlett Packard   Product No:   GE333A   Variances, if any:			6 EACH	\$397.76	\$2,386.56
MFG/Brand:   Hewlett Packard   F332A	Packagi	ng. Original OEM			_ <u>L</u>
Product No: CF332A Variances, if any:    193			_		
193 HP LASER JET #652A MAGENTA PRINTER CARTRIDGE 6 EACH \$397.76 \$2,386.56 (#CF333A)  Packaging: MFG/Brand: Hewlett Packard CF333A CATRIDGE (#CA182X)  Packaging: Original OEM Hewlett Packard CA182X  Variances, if any:			- -		
Packaging:   Original OEM   Hewlett Packard   CF333A	Variance	es, if any:	-		
Fackaging:   Hewlett Packard   Product No:   Variances, if any:			6 EACH	\$397.76	\$2,386.56
MFG/Brand: Product No: OF333A Variances, if any:  194 HP LASER JET #82X HIGH YEILD BLACK PRINTER CARTRIDGE (#C4182X)  Packaging: MFG/Brand: Product No: O4182X Variances, if any:	Packagi	ilg. ————	_	L	<u>l ,</u>
Variances, if any:  194 HP LASER JET #82X HIGH YEILD BLACK PRINTER CARTRIDGE (#C4182X)  Packaging: MFG/Brand: Product No: Variances, if any:  194 HP LASER JET #82X HIGH YEILD BLACK PRINTER CARTRIDGE (#C4182X)  Hewlett Packard C4182X  Variances, if any:		and: Hewlett Packard	-	•	
HP LASER JET #82X HIGH YEILD BLACK PRINTER CARTRIDGE (#C4182X)  Packaging: MFG/Brand: Product No: Variances, if any:  S30.80  \$123.20  \$123.20		No.	_		
Packaging: MFG/Brand: Product No: Variances, if any:	Variance	es, if any:	<del>-</del>		•
MFG/Brand: Product No: Variances, if any:			4 EACH	\$30.80	\$123.20
MFG/Brand: Hewlett Packard Product No: C4182X Variances, if any:	Packagi	ng: Original OEM	_	<u> </u>	J.
Variances, if any:	MFG/Br	and: Hewlett Packard	_		
		110.	_		
	Variance	es, if any:	_		
					1
					İ
		·			
			1		
				I	

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
196	HEWLETT PACKARD LASER JET PRINTER CARTRIDGES NOT LISTED:			\$425.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500			
	LESS DISCOUNT OF			
	NET COST TO COUNTY (ESTIMATED) \$\frac{\$425.00}{}			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT			
	Packaging: Original OEM  MFG/Brand: Hewlett Packard	<u>.</u>	v.	
	Product No: Laserjet Cartridges	<del>-</del>		
	Variances, if any:	_		4
OKIDA	ATA			
197	OKIDATA 320 DOT MATRIX PRINT CARTRIDGES, BLACK 9-PIN #52102001	6 EACH	\$19.55	\$117.30
	Packaging: Original OEM  MFG/Brand: Okidata  Product No: 52102001  Variances, if any:	- - -	<u> </u>	
198	OKIDATA BLACK RIBBONS FOR MICROLINE 393 PLUS/393C/395 (#52103601)	6 EACH	\$21.85	\$131.10
	Packaging: Original OEM  MFG/Brand: Okidata  Product No: 52103601  Variances, if any:	- - - - ·,		<u> </u>

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
199	OKIDATA PRINTER CARTRIDGES NOT LISTED:			\$475.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500			
	LESS DISCOUNT OF			
	NET COST TO COUNTY (ESTIMATED) \$ \$475.00 *			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT Packaging: Original OEM	·		
	Packaging: Original OEM  MFG/Brand: Okidata  Product No: PRINTER CARTRIDGES  Variances, if any:	<del></del> 		
CANO	N A S		· · · · · · · · · · · · · · · · · · ·	
200	CANON #KP-108IP CARTRIDGES	2 EACH	\$22.05	\$44.10
	Packaging:  MFG/Brand:  Canon  Product No:  9585A001  Variances, if any:  Canon  EP-108IP			
201	CANON #KP-36IP CARTRIDGES	2 EACH	\$15.75	\$31.50
	Packaging:         Original OEM           MFG/Brand:         Canon           Product No:         7737A001           Variances, if any:         KP-36IP			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
202		N IP4600 FOUR COLOR PACK - INK TANK DW, CYAN AND MAGENTA (#CLI-221)	2 EACH	\$48.03	\$96.06
	Packaging:	Original OEM			_l
	MFG/Brand:	Canon	-		
	Product No:	2946B001	<del>-</del> -		
	Variances, if	any: ———————————	_		
203	CANON PIXMA	IP4700 PRINTER #PGI-220BK	2 EACH	\$15.16	\$30.32
	Packaging:	Original OEM	_		
	MFG/Brand:	Canon	-		
	Product No:	2945B001	-		
	Variances, if	any:	<u>-</u>		
204	CANON PIXMA PRO 9000 #8 CARTRIDGE GREEN #CLI-8G		2 EACH	\$17.57	\$35.14
	Packaging:	Original OEM		<u> </u>	<u> </u>
	MFG/Brand:	Canon	-		
	Product No:	0627B002	<u>-</u>		
	Variances, if	any:	-		
205	CANON PIXMA	PRO 9000 #8 CARTRIDGE RED #CLI-8R	2 EACH	\$17.57	\$35.14
		0.1.10=14			
	Packaging:	Original OEM	-		
	MFG/Brand:	Canon 0626B002	_		
	Product No: Variances, if		-		
		·	-	1	1000 00
206	CANON PIXMA #CLI-5BK	PRO 9000 #8 CARTRIDGE BLACK	2 EACH	\$16.84	\$33.68
	Packaging:	Original OEM	_	L	
	MFG/Brand:	Canon	_		
	Product No:	06208002	_		
	Variances, if	any: —————	-		

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
207	CANON IX6820	) (#250 PGBK)	15 EACH	\$14.76	\$221.40
	Packaging:	Original OEM	<b>-</b>	<u> </u>	1
	MFG/Brand:	Canon 6497B001	_		
	Product No:		-		
	Variances, if	any:			
208	CANON (#225F	PGBK)	2 EACH	\$16.00	\$32.00
	Packaging:	Original OEM	_		
	MFG/Brand:	Canon	- -		
	Product No:	<u>4530B</u> 001	-		
	Variances, if	any: ————————————————————————————————————	-		
209	CANON CLI-42 (#6389B002)	PM MAGENTA PHOTO INK CARTRIDGE	2 EACH	\$14.32	\$28.64
	Packaging:	Original OEM			
	MFG/Brand:	Canon	_		
	Product No:	6389B002	_		
	Variances, if	any:	-		
210	CANON CLI-42 (#6388B002)	PC CYAN PHOTO INK CARTRIDGE	2 EACH	\$14.32	\$28.64
	Packaging:	Original OEM		<u> </u>	
	MFG/Brand:	Canon	_		
	Product No:	6388B002	<del>-</del>	•	
	Variances, if	any:	-		
211	CANON CLI-42	Y YELLOW INK CARTRIDGE (#6387B002)	2 EACH	\$14.32	\$28.64
	Daokasins:	Original OEM			
	Packaging: MFG/Brand:	Canon	<b>-</b>		
	Product No:	6387B002	- -		
		any:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
212	CANON CLI-42M MAGENTA INK CARTRIDGE (#6386B002)	2 EACH	\$14.32	\$28.64
	Packaging: Original OEM  MFG/Brand: Canon  Product No: 6386B002  Variances, if any:	- - -		
213	CANON CLI-42C CYAN INK CARTRIDGE (#6385B002)	2 EACH	\$14.32	\$28.64
	Packaging: Original OEM  MFG/Brand: Canon  Product No: 6385B002  Variances, if any:	- - -		
214	CANON CLI-42LGY LIGHT GRAY INK CARTRIDGE (#6391B002)	2 EACH	\$14.32	\$28.64
	Packaging: Original OEM  MFG/Brand: Canon  Product No: 6391B002  Variances, if any: ————————————————————————————————————	·	<u> </u>	
215	CANON CLI-42G GRAY INK CARTRIDGE (#6390B002)	2 EACH	\$14.32	\$28.64
	Packaging:  MFG/Brand:  Product No:  Variances, if any:  Original OEM  Canon  6390B002  Variances, if any:	- - -	L	
216	CANON CLI-42BK BLACK INK CARTRIDGE (#6384B002)	2 EACH	\$14.32	\$28.64
	Packaging: Original OEM  MFG/Brand: Canon  Product No: 6384B002  Variances, if any:	- - -		.1

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
217 (	CANON CLI-22	1Y .	2 EACH	\$13.47	\$26.94
	Packaging:	Original OEM			
	MFG/Brand:	Canon			
	Product No:	2949B001			
	Variances, if a	any:			
218 (	CANON CLI-22	1M	2 EACH	\$13.47	\$26.94
	Packaging:	Original OEM			<u> </u>
	MFG/Brand:	Canon			
	Product No:	2948B001			
	Variances, if a	nny:	·····		
219 (	CANON CLI-22	10	2 EACH	\$13.47	\$26.94
	Packaging:	Original OEM		,	
	MFG/Brand:	Canon			
	Product No:	2947B001			
	Variances, if a	any:			
220 (	CANON CLI-22	1BK	2 EACH	\$13.47	\$26.94
	D 4 :	Original OEM			<u> </u>
	Packaging: MFG/Brand:	Canon			
	Product No:	2946B001			
	Variances, if a	any: ————			
221 (	CANON CLI-226	6BK	2 EACH	\$14.32	\$28.64
	Packaging:	Original OEM	<del></del>		
	MFG/Brand:	Canon 4546B001	<del></del>		
	Product No:				
	Variances, if a	iny:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
222 CANON C	LI-226GY	2 EACH	\$14.32	\$28.64
Dli	Original OEM			
Packagii MFG/Bra		<del></del>		
Product	and			
	es, if any:			
223 CANON C	LI-226Y	2 EACH	\$14.32	\$28.64
Packagii	ng: Original OEM			<u> </u>
MFG/Bra	and: <u>Canon</u>	<del></del>		
Product				
Variance	es, if any:			
224 CANON C	L1-226M	2 EACH	\$14.32	\$28.64
D	og: Original OEM			<u> </u>
Packagii MFG/Bra	lg. ————————————————————————————————————	<del></del>		
Product				
	es, if any:			
225 CANON C	LI-226C	2 EACH	\$14.32	\$28.64
	Original OCM			
Packagi				
MFG/Bra Product	311U,			
	es, if any:			
226 CANON C	LI-251, BK CMY	20 EACH	\$47.20	\$944.00
4 PACK				
Packagi	ng: Original OEM			
MFG/Bra	and: Canon			
Product				
Variance	es, if any:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
227	CANON PGI-22	0BK	2 EACH	\$15.16	\$30.32
	Packaging:	Original OEM	_		<u> </u>
	MFG/Brand:	Canon	_		
	Product No:	2945B001	<del>-</del>		
	Variances, if a	any:			
228	CANON TONE	R E40 CARTRIDGE BLACK #1491A02AA	2 EACH	\$152.61	\$305.22
	Packaging:	Original OEM	_		1
	MFG/Brand:	Canon	_		
	Product No:	1491A002AA	_		
	Variances, if	any:			
229	CANON E40 CA	ARTRIDGE	2 EACH	\$152.61	\$305.22
	Packaging:	Original OEM			
	MFG/Brand:	Canon	<del>-</del> -		
	Product No:	1491A002AA	_		
	Variances, if a	any:	_		
230	CANON TA SE	RIES PFI-030BK BLACK INK 55ML	4 EACH	\$46.66	\$186.64
	Doelessins	Original OEM			ļ
	Packaging: MFG/Brand:	Canon	_		
	Product No:	3489C001AA	<del>-</del> -		
	Variances, if a	any:	-		
231	CANON TA SER	RIES PFI-030MBK MATTE BLACK INK	4 EACH	\$46.66	\$186.64
	Packaging:	Original OEM	_		
	MFG/Brand:	Canon	<u>-</u>		
	Product No:	3488C001AA	_		
	Variances, if a	any:	_		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

TEM# DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
232 CANON TA SERIES PFI-030C CYAN INK 55ML	4 EACH	\$46.66	\$186.64
Packaging: Original OEM	<del></del>		<u> </u>
MFG/Brand: Canon Product No: 3490C001AA			
Froduct No.			
Variances, if any:			
233 CANON TA SERIES PFI-030M MAGENTA INK 55ML	4 EACH	\$46.66	\$186.64
Packaging: Original OEM		L	
MFG/Brand: Canon			
Product No: 3491C001AA			
Variances, if any:			
34 CANON TA SERIES PFI-030Y YELLOW INK 55ML	4 EACH	\$46.66	\$186.64
Packaging: Original OEM			
MFG/Brand: Canon			
Product No: 3492C001AA	<del></del>		
Variances, if any:	<del></del> .		
CANON IMAGE PRESS C700 T01 HI BLACK TONER (#8066B001AA)	10 EACH	\$99.57	\$995.70
Deal:- Original OEM			
Packaging: ————————————————————————————————————			
MFG/Brand: 8066B001AA	<del></del>		
Variances, if any:			
26 CANON MACE PRESS 2700 TOUR DVAN TONER	5 EACH	\$87.26	\$436.30
36 CANON IMAGE PRESS C700 T01 HI CYAN TONER (#8067B00BAA)	5 EACH	ψ07.20	Ψ 100.00
Packaging: Original OEM		<u> </u>	
MFG/Brand: Canon			
Product No: 8067B001AA			•
Variances, if any:	<del></del>	•	

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
237	CANON IMAGE (#8068B001AA)	PRESS C700 T01 HI MAGENTA TONER	5 EACH	\$87.26	\$436.30
	Packaging:	Original OEM			
	MFG/Brand:	Canon	<del>-</del>		
	Product No:	8068B001AA	<u>.</u>		
	Variances, if	any: —————	-		
238	CANON IMAGE (#8069B001A)	PRESS C700 T01 HI YELLOW TONE	5 EACH	\$87.26	\$436.30
	Dookoging	Original OEM		<u> </u>	. !
	Packaging: MFG/Brand:	Canon	-		
	Product No:	8069B001AA	• •		
•	Variances, if	any:	-		
246	CANON PRINT	ER CARTRIDGES NOT LISTED:	, , , , , , , , , , , , , , , , , , , ,		\$450.00
		PRICE" COLUMN FOR THIS ITEM ENTER TO THE COUNTY COMPUTED AS			
		MOUNT AT MANUFACTURER'S LIST PRICE: \$500.00			
	LESS DISCOUI (IF ANY)	NT OF			
	NET COST TO	COUNTY (ESTIMATED) \$ <u>450.00</u> *			
	FOR THIS ITEM PURCHASE OF DIFFERENT AM	OUNT IN THE "TOTAL PRICE" COLUMN  M. THE ACTUAL CONTRACT AND  RDER MAY USE A SOMEWHAT  MOUNT FOR THIS ITEM, BUT BIDS WILL  D ON THIS AMOUNT			
	Packaging: MFG/Brand:	Original OEM  Canon	- -	L	_ !
	Product No:	PRINTER LASER AND INK CARTRIDGES	• <del>-</del>		
	Variances, if	nn. (*	_		

## **County of Monmouth REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
247	HP #11 BLACK PRINTHEAD (#C4810A)	2 EACH	\$16.80	\$33.60
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard			
	Product No: C4810A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
248	HP #11 CYAN PRINTHEAD (#C4811A)	2 EACH	\$16.80	\$33.60
	Danka a in a conginal OEM			
	Packaging:			
	WIFG/DIANG.			
	Product No: C4811A  Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
	variances, if any.	<del></del>		
249	HP #11 MAGENTA PRINTHEAD (#C4812A)	2 EACH	\$16.80	\$33.60
	Packaging: Original OEM		Į.	1 .
	MFG/Brand: Hewlett Packard			
	Product No: C4812A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
250	HP #11 YELLOW PRINTHEAD (#C4813A)	2 EACH	\$16.80	\$33.60
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard			
	Product No: C4813A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
251	HP #81 BLACK PRINTHEAD (#C4950A)	2 EACH	\$147.00	\$294.00
	Original OFM			
	Packaging: Original OEM  MEG/Brand: Hewlett Packard			
	CADEDA			
	PRODUCT NO.			
	Variances, if any:			

# County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
252	HP #81 CYAN PRINTHEAD (#C4951A)	2 EACH	\$147.00	\$294.00
	Packaging: Original OEM			<u> </u>
	MFG/Brand: Hewlett Packard			
	Product No: C4951A			
ŧ	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
253	HP #81 MAGENTA PRINTHEAD (#C4952A)	2 EACH	\$147.00	\$294.00
	D . Original OEM			<u></u>
	Packaging: Howlett Backard			
	MFG/Brand: C4952A C4952A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE	:		
254	HP #81 YELLOW PRINTHEAD (#C4953A)	2 EACH	\$147.00	\$294.00
	Packaging: Original OEM			<u></u>
	Packaging: MFG/Brand: Hewlett Packard			
	Product No: C4953A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE	:		
255	HP #81 LIGHT CYAN PRINTHEAD (#C4954A)	2 EACH	\$147.00	\$294.00
	D Original OEM			
	Packaging:			
	MFG/Brand: Product No: C4954A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE	₫		
256	HP #81 LIGHT MAGENTA PRINTHEAD (#C4955A)	2 EACH	\$147.00	\$294.00
	Reskoning: Original OEM			
	Packaging: Original Octor			
	Lloudett Deelcord			
	MFG/Brand: Product No:  Hewlett Packard  C4955A			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
257	HP #81 BLACK DYE VALUE PACK (#C4930A)	2 EACH	\$147.00	\$294.00
	Packaging: Original OEM			.1
	MFG/Brand: Hewlett Packard			
	Product No: C4930A	•		
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
258	HP #81 CYAN DYE VALUE PACK (#C4931A)	2 EACH	\$147.00	\$294.00
	Pockoging: Original OEM			
	Fackaging.			
	MFG/Brand: Hewlett Packard Product No: C4931A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
259	HP #81 MAGENTA DYE VALUE PACK (#C4932A)	2 EACH	\$147.00	\$294.00
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard			
	Product No. C4932A			
	Variances, if any:			
260	HP #81 YELLOW DYE VALUE PACK (#C4933A)	2 EACH	\$147.00	\$294.00
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard			
	Product No. C4933A			
	Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
261	HP #81 LIGHT CYAN DYE VALUE PACK (#C4934A)	2 EACH	\$147.00	\$294.00
	Pockaging: Original OEM			
	Packaging: Original OEM  MFG/Brand: Hewlett Packard			
	Product No: C4934A			
	Variances if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			

#### **REQUEST FOR BID**

----- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
262 H	HP #81 LIGHT MAGENTA DYE VALUE PACK (#C4935A)	2 EACH	\$147.00	\$294.00
	Packaging: Original OEM	_		<u> </u>
	MFG/Brand: Hewlett Packard	_		
	Product No: C4935A	•		
	Variances, if any:	ABLE •		
264 ł	HP #761 YELLOW DESIGNJET PRINTHEAD (#CN645A)	10 EACH	\$175.23	\$1,752.30
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard	•		
	Product No: CH645A	-		
	Variances, if any:			
265 H	HP #761 MAGENTA DESIGNJET PRINTHEAD (#CN646A)	10 EACH	\$175.23	\$1,752.30
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard	•		
	Product No: CH646A	•		
	Variances, if any:	-		
	HP #761 GRAY AND DARK GRAY DESIGNJET PRINTHEAD (#CN647A)	10 EACH	\$175.23	\$1,752.30
	Packaging: Original OEM		<u> </u>	<u> </u>
	MFG/Brand: Hewlett Packard	-		
	Product No: CH647A	•		
	Variances, if any:	-		
	HP #761 BLACK AND MATTE BLACK DESIGNJET PRINTHEAD (#CN648A)	10 EACH	\$175.23	\$1,752.30
	Packaging: Original OEM			İ
	MFG/Brand: Hewlett Packard			
	Product No: CH648A	-		
	Variances, if any:	-		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
268	HP #940 BLACK AND YELLOW PRINTHEAD (#C4900A)	4 EACH	\$21.00	\$84.00
	Packaging: Original OEM  MFG/Brand: Hewlett Packard  Product No: C4900A  Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE	:	L	·
269	HP #940 MAGENTA AND CYAN PRINTHEAD (#C4901A)	4 EACH	\$21.00	\$84.00
	Packaging: Original OEM  MFG/Brand: Hewlett Packard  Product No: C4901A  Variances, if any: ITEM DISCONTINUED - EXPIRED ONLY AVAILABLE			
270	HP #8100 PRINTHEAD KIT (#CR322)	4 EACH	\$147.00	\$588.00
	Packaging:  MFG/Brand:  Product No:  CR322  Variances, if any:		1	.1
271	HEWLETT PACKARD PRINTHEADS NOT LISTED:			\$450.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500.00			
	LESS DISCOUNT OF			
	NET COST TO COUNTY (ESTIMATED) \$ \$450.00 *			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT	F-33-2024		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
Packaging MFG/Brar Product N Variances	d: Hewlett Packard o: PRINTHEADS	-		
ELL				
272 DELL #M520 (#N0893)	OON HIGH CAPACITY LASER CARTRIDGE	1 EACH	\$123.49	\$123.49
Packaging MFG/Brar Product N Variances	d: Dell 0: N0893	- - -		<b>1</b>
273 DELL #5310	-341-291888 LASER CARTRIDGE	1 EACH	\$198.53	\$198.53
Packaging MFG/Brar Product N Variances	d: Dell o: 341-2918	- - - -	<u> </u>	<u> </u>
274 DELL LASE (#331-9803)	RJET #7MC5J BLACK PRINTER CARTRIDGE	1 EACH	\$106.99	\$106.99
Packaging MFG/Brar Product N Variances	d: Dell 331-9803	• • •	<u>L</u>	
275 DELL LASE (#331-9805)	RJET #C3NTP BLACK PRINTER CARTRIDGE	6 EACH	\$167.31	\$1,003.86
Packaging MFG/Brar Product N Variances	d: Dell 331-9805		L	.1
	2G BLACK TONER CARTRIDGES, URER # HJ0DH, #331-9807	1 EACH	\$294.83	\$294.83

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: Original OEM  MFG/Brand: Dell 331-9807  Variances, if any: 9GG2G, HJ0DH			
	DELL #3GDTO BLACK TONER CARTRIDGES, MANUFACTURER # 2CH2D, #330-6135	1 EACH	\$247.31	\$247.31
	Packaging: Original OEM  MFG/Brand: Dell  Product No: 330-6135  Variances, if any: 3GDT0, 2CH2D		L	
	DELL #J5YD2 CYAN TONER CARTRIDGES, MANUFACTURER # 4C8RP, #330-6138	1 EACH	\$452.21	\$452.21
	Packaging: Original OEM  MFG/Brand: Dell  Product No: 330-6138  Variances, if any: J5YD2, 4C8RP		L	
	DELL #FRPPK YELLOW TONER CARTRIDGES, MANUFACTURER # 61NNH, #330-6139	1 EACH	\$452.21	\$452.21
	Packaging: Original OEM  MFG/Brand: Dell  Product No: 330-6139  Variances, if any: FRPPK, 61NNH		L	
	DELL #7FY16 MAGENTA TONER CARTRIDGES, MANUFACTURER # 31PHT, #330-6141	1 EACH	\$452.21	\$452.21
	Packaging: Original OEM  MFG/Brand: Dell  Product No: 330-6141  Variances, if any: 7FY16, 31PHT		<u> </u>	
	DELL #GHJ7J BLACK TONER CARTRIDGES, MANUFACTURER # W53Y2, #332-2115	4 EACH	\$149.53	\$598.12

#### **REQUEST FOR BID**

----- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
N F	Packaging: Original OEM  MFG/Brand: Dell  Product No: 332-2115  Variances, if any: GHJ7J, W53Y2			
	LL #9MHWD YELLOW TONER CARTRIDGES, NUFACTURER # JXDHD, #332-2116	4 EACH	\$197.15	\$788.60
N F	Packaging: Original OEM  MFG/Brand: Dell  Product No: 332-2116  Variances, if any: 9MHWD, JXDHD		<u> </u>	- <b>I</b>
	LL #KDPKJ MAGENTA TONER CARTRIDGES, NUFACTURER # MPJ42, #332-2117	4 EACH	\$197.15	\$788.60
N F	Packaging: Original OEM  MFG/Brand: Dell  Product No: 332-2117  Variances, if any: KDPKJ, MPJ42		<u> </u>	
	LL #T5P23 CYAN TONER CARTRIDGES, NUFACTURER # M3TD7, #332-2118	4 EACH	\$197.15	\$788.60
N F	Packaging: Original OEM  MFG/Brand: Dell  Product No: 332-2118  Variances, if any: T5P23, M3TD7		L	
285 DE	LL #RGCN6 BLACK TONER CARTRIDGE	4 EACH	\$106.99	\$427.96
N F	Packaging: Original OEM  MFG/Brand: Dell  Product No: 331-9803  Variances, if any: RGCN6, 7MC5J			. <b>I</b>
286 DE	LL #5130CDN/5765DN BLACK DRUM (#U623N)	3 EACH	\$103.54	\$310.62

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: Original OEM MFG/Brand: Dell Product No: P623N			
	Variances, if any:			
287	DELL #5130CDN/5765DN CYAN DRUM (#U163N)	3 EACH	\$103.54	\$310.62
	Packaging: Original OEM  MFG/Brand: Dell  Product No: U163N  Variances, if any:	<del></del>  	L	. <b>.</b>
288	DELL #5130CDN/5765DN MAGENTA DRUM (#T229N)	3 EACH	\$103.54	\$310.62
	Packaging:  MFG/Brand:  Dell  Product No:  T229N  Variances, if any:			
289	DELL #5130CDN/5765DN BLACK DRUM (#D718R)	3 EACH	\$96.89	\$290.67
	Packaging: Original OEM  MFG/Brand: Dell  Product No: X951N  Variances, if any:			
		·		

## **County of Monmouth REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
290	DELL PRINTER CARTRIDGES NOT LISTED:			\$475.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500.00			
	LESS DISCOUNT OF 5 % OFF (IF ANY) (-\$)			
	NET COST TO COUNTY (ESTIMATED) \$ 475.00 *			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT Packaging: Original OEM			
	rackaging.			
	MFG/Brand: Dell Product No: PRINTER CARTRIDGES			
	Variances, if any:			
BROT	HER			· · · · · · · · · · · · · · · · · · ·
291	BROTHER TONER CARTRIDGE - #TN210BK - BLACK - FOR BROTHER HL-3070CW	11 EACH	\$65.20	\$717.20
	Packaging: Original OEM			•
	MFG/Brand: Brother		•	
	Product No: TN210BK  Variances, if any:			
202	BROTHER TONER - #TN-460 MODEL 4100E	 3 EACH	\$86.57	\$259.71
202	BROTTER TORER - # TN-400 MODEL 4 100E	3 LAGIT		
	Packaging: Original OEM			
	MFG/Brand: Brother			
	Product No: TN460			
	Variances, if any:	•		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER PRINTER CARTRIDGES FOR VARIOUS PRINTERS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
293	BROTHER TONER CARTRIDGE - #TN750X - BLACK - FOR BROTHER DCP8110DN AND BROTHER MFC 8410DW	11 EACH	\$102.02	\$1,122.22
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	•		
204			\$102.72	\$1,129.92
294	BROTHER TONER #TN 850 BLACK PRINTER CARTRIDGE FOR BROTHER L5700DW PRINTER	11 EACH	ψ102.72	ψ1,129.92
	Packaging:		<u>L</u>	
	MFG/Brand:Product No:	-		
	Variances, if any:	•		
295	BROTHER PRINTER CARTRIDGES NOT LISTED:			\$460.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500.00			
	LESS DISCOUNT OF <u>8</u> % OFF (IF ANY) (-\$)			
	NET COST TO COUNTY (ESTIMATED) \$ 460.00 *			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT			
	DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT			
	Packaging: Original OEM		L	
	MFG/Brand: Brother Product No: PRINTER CARTRIDGES			
	Product No: PRINTER CARTRIDGES  Variances, if any:	•		
RISO	COMCOLOR 7050 PRINTER CARTRIDGES AND SUPPLIES ALL	ITEMS MUST BE OFM IN OF	RIGINAL SEALED	· · · · · · · · · · · · · · · · · · ·

**PACKAGING** 

# County of Monmouth REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

**Contact:** Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
296	RISO COMCOLOR I	NK CARTRIDGE # S-7250UA BLACK	1 EACH	\$135.00	\$135.00
	Packaging: Origi	inal OEM	_	L	_1
	MFG/Brand: Riso	Graph	_		
	Product No: S-7	250UA	<b>-</b>		
	Variances, if any:		-		
297	RISO COMCOLOR I	NK CARTRIDGE # S-7251UA CYAN	1 EACH	\$135.00	\$135.00
	Packaging: Original OEM				
	rackaging	Graph	<b>-</b>		
	IVII O/DIGITO.	251UA	-		
	Variances, if any:		-		
298	RISO COMCOLOR INK CARTRIDGE # S-7252UA MAGENTA		1 EACH	\$135.00	\$135.00
	Packaging: Orig	ginal OEM		<u> </u>	1
	MFG/Brand: Riso	Graph	_		
	Product No: S-7	252UA	- -		
	Variances, if any:		-		
299	RISO COMCOLOR I YELLOW	NK CARTRIDGE # S-7253UA	1 EACH	\$135.00	\$135.00
	Packaging: Origi	inal OEM			
	i ackaging. ——	Graph	•		
		253UA	-		
	Variances, if any:		-		
300	RISO COMCOLOR S	STAPLES PART # S-4129G	1 BOX(S)	\$27.00	\$135.00
	3 CARTRIDGES/BOX	x			
	Packaging: Origin	nal OEM	_		
	i donaging.	Graph	=		
	Product No: S-4	129G	<u>-</u>		
	Variances, if any:		-		

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER PRINTER CARTRIDGES FOR VARIOUS PRINTERS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024

ITEM#	! 	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
301		OR STAPLES PART # S-4130G - BOOKLET STAPLE 5/BOX	1 BOX(S)	\$18.36	\$18.36
	Packaging:	Original OEM			<u>-</u> .
	MFG/Brand:	RisoGraph	,		
	Product No:	<u>S-4130G</u>			
	Variances, if a	any: ———			
302	RISO COMCOL LISTED:	OR CARTRIDGES OR ITEMS NOT			\$485.00
		PRICE" COLUMN FOR THIS ITEM ENTER TO THE COUNTY COMPUTED AS			
		MOUNT AT MANUFACTURER'S JIST PRICE: \$500.00			
	LESS DISCOUNT (IF ANY)	NT OF3% OFF (-\$)			
	NET COST TO	COUNTY (ESTIMATED) \$ 485.00 *			1
	FOR THIS ITEM PURCHASE OF DIFFERENT AM	OUNT IN THE "TOTAL PRICE" COLUMN  M. THE ACTUAL CONTRACT AND  RDER MAY USE A SOMEWHAT  MOUNT FOR THIS ITEM, BUT BIDS WILL  D ON THIS AMOUNT			
	Packaging:			1	
	MFG/Brand:				
	Product No:				
	Variances, if	any:			
IEWL	ETT PACKARD	PAGEWIDE PRINTER CARTRIDGES ALL ITEMS	MUST BE OEM IN ORIGINAL	SEALED PACKAG	NG
303	HP PAGE WIDE CARTRIDGES (	E PRO #972X BLACK HIGH YIELD INK (#F6T84N)	10 EACH	\$137.13	\$1,371.30
	Packaging: MFG/Brand: Product No: Variances, if a	Original OEM Hewlett Packard F6T84AN		L	1

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
304	HP PAGE WIDE CARTRIDGES	E PRO #972X CYAN HIGH YIELD INK (#L0R98AN)	10 EACH	\$132.67	\$1,326.70
	Packaging: MFG/Brand: Product No:	Original OEM Hewlett Packard L0R98AN	- -	, <b>L</b>	
	Variances, if	any:	- -		
305	HP PAGE WIDE CARTRIDGES	E PRO #972X MAGENTA HIGH YIELD INK (#L0501AN)	10 EACH	\$132.67	\$1,326.70
	Packaging:	Original OEM	_	L	J
	MFG/Brand:	Hewlett Packard L0S01AN	-		
	Product No: Variances, if a		<u>-</u> -		
306	HP PAGE WIDE PRO #972X YELLOW HIGH YIELD INK CARTRIDGES (#L0504AN)		10 EACH	\$132.67	\$1,326.70
	Packaging: MFG/Brand:	Original OEM	_	L	_l
		Hewlett Packard L0S04AN	<del>-</del>		
	Product No: LUSU4AN  Variances, if any:		- -		
307	HP PAGE WIDE CARTRIDGE (#	E PRO #980X BLACK HIGH YIELD INK ED8J10A)	4 EACH	\$108.44	\$433.76
	Packaging:	Original OEM	_	L	<u> </u>
	MFG/Brand:	Hewlett Packard D8J10A	-		
	Product No: Variances, if	7	- -		
308	HP PAGE WIDE CARTRIDGE (#	E PRO #980X CYAN HIGH YIELD INK D8J07A)	4 EACH	\$93.31	\$373.24
	Packaging:	Original OEM	_		
	MFG/Brand:	Hewlett Packard	-		
	Product No: D8J07A  Variances, if any:		-		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
309	HP PAGE WID CARTRIDGE (#	E PRO #980X MAGENTA HIGH YIELD INK #D8J08A)	4 EACH	\$93.31	\$373.24
	Packaging: MFG/Brand: Product No: Variances, if	Original OEM Hewlett Packard D0J08A any:	- - -	L	<u> </u>
310	HP PAGE WIDI CARTRIDGE (#	E PRO #980X YELLOW HIGH YIELD INK #D8J09A)	4 EACH	\$93.31	\$373.24
	Packaging: MFG/Brand: Product No: Variances, if	Original OEM Hewlett Packard D8J09A any:	<del>-</del> - -		
311	HP PAGE WIDE PRO #981X BLACK HIGH YIELD INK CARTRIDGES (#L0R12A)		4 EACH	\$104.70	\$418.80
	Packaging: MFG/Brand: Product No: Variances, if	Original OEM Hewlett Packard L0R12A any:	- - -		
312	HP PAGE WIDI CARTRIDGES	E PRO #981X CYAN HIGH YIELD INK (#L0R09A)	4 EACH	\$142.22	\$568.88
	Packaging: MFG/Brand: Product No: Variances, if	Original OEM  Hewlett Packard  L0R09A  any:	- - -	<u> </u>	- <b></b>
313	HP PAGE WIDI CARTRIDGES	E PRO #981X MAGENTA HIGH YIELD INK (#L0R10A)	4 EACH	\$142.22	\$568.88
	Packaging: MFG/Brand: Product No: Variances, if	Original OEM  Hewlett Packard  L0R10A  any:	- - -		1

## **County of Monmouth REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
314	HP PAGE WIDE PRO #981X YELLOW HIGH YIELD INK CARTRIDGES (#L0R11A)	4 EACH	\$142.22	\$568.88
	Packaging: Original OEM			<u> </u>
	MFG/Brand: Hewlett Packard			
	Product No: LOR11A			
	Variances, if any:	· ·		
315	HP PAGE WIDE PRO #990X BLACK HIGH YIELD PAGEWIDE CARTRIDGE (#M0K01AN)	4 EACH	\$193.29	\$773.16
	Packaging: Original OEM			
	MFG/Brand: Hewlett Packard			
	Product No: MOK01AN	<del></del>		
	Variances, if any:			
316	HP PAGE WIDE PRO #990X CYAN HIGH YIELD PAGEWIDE CARTRIDGE (#M0J89AN)	4 EACH	\$213.12	\$852.48
	Packaging: Original OEM			J
	Packaging: Original OEM MFG/Brand: Hewlett Packard			
	Product No: MOJ89AN			
	Variances, if any:			
317	HP PAGE WIDE PRO #990X MAGENTA HIGH YIELD PAGEWIDE CARTRIDGE (#M0J97AN)	4 EACH	\$213.12	\$852.48
	Poekoging: Original OEM			J
	Packaging.	<del></del>		
	MFG/Brand: Hewlett Packard Product No: M0J97AN			
	Variances, if any:			
318	HP PAGE WIDE PRO #990X YELLOW HIGH YIELD PAGEWIDE CARTRIDGE (#M0J93AN)	4 EACH	\$213.12	\$852.48
	Packaging: Original OEM		L	
	Packaging: Original OEM MFG/Brand: Hewlett Packard	<del></del>		
	Product No: MOJ93AN			
	Variances, if any:			

## **County of Monmouth REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
319	HEWLETT PACKARD PAGEWIDE PRINTER CARTRIDGES NOT LISTED:			\$450.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500.00			
	LESS DISCOUNT OF			
	NET COST TO COUNTY (ESTIMATED) \$ 450.00 *			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT Packaging: Original OEM			
	MFG/Brand: Hewlett Packard	<del>-</del>		
	Product No: HP PAGEWIDE PRINTER CARTRIDGES  Variances, if any:	_ _		
EPSO	N			
320	#T212120-S EPSON BLACK INK CARTRIDGE	4 EACH	\$18.09	\$72.36
	Packaging: Original OEM  MFG/Brand: Epson Product No: T212120-S  Variances, if any:	_ _ _ _		. <b>.l</b> .
321	#T212220-S EPSON CYAN INK CARTRIDGE	4 EACH	\$6.32	\$25.28
	Packaging: Original OEM  MFG/Brand: Epson Product No: T212220-S  Variances, if any:	   		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
322	#T212230-S EPSON MAGENTA INK CARTRIDGE	4 EACH	\$6.32	\$25.28
	Packaging: Original OEM			
	MFG/Brand: Epson			
	Product No: T212230-S			
	Variances, if any:	_		
323	#T212240-S EPSON YELLOW INK CARTRIDGE	4 EACH	\$6.32	\$25.28
	Packaging: Original OEM			1.
	rackaging.	<del>_</del>		
	MFG/Brand: Epson Product No: T212240-S	<del></del>		
	Variances, if any:	<del></del>		
			004.50	Itaa 00
324	#T215120S EPSON BLACK INK CARTRIDGE	4 EACH	\$21.58	\$86.32
	Poekaging: Original OEM		<u> </u>	_i
	Packaging: Original OEW  MFG/Brand: Epson	<del></del>		
	Product No: T215120-S	<del></del>		
	Variances, if any:	<u> </u>		
325	#T215530S EPSON TRI - COLOR INK CARTRIDGE	4 EACH	\$17.65	\$70.60
	Packaging: Original OEM	_		
	MFG/Brand: Epson	<del></del>		
	Product No: T215530-S	<del>_</del>		
	Variances, if any:		·-·, ·-·	<del> </del>
326	#T220120 - EPSON 220 BLACK INK CARTRIDGE	4 EACH	\$12.36	\$49.44
	Packaging: Original OEM			<u></u>
	Packaging: Original OEM  MFG/Brand: Epson	<del>_</del>		
	Product No: T220120	_ _		
	Variances, if any:	<del>_</del>		

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
327	#T220520 - EPSON 220 COLOR INK CARTRIDGE (CYAN/MAGENTA/YELLOW)	4 EACH	\$23.88	\$95.52
	Packaging: Original OEM			
	MFG/Brand: Epson			
	Product No: T220520			
	Variances, if any:			
328	#T324120 - EPSON T324 PHOTO BLACK ULTRA CHROME HG2 INK CARTRIDGE	4 EACH	\$20.59	\$82.36
	Packaging: Original OEM		<u></u>	
	Packaging: Original OEM  MFG/Brand: Epson			
	Product No: T324120			
	Variances, if any:			
329	#T324220 - EPSON T324 CYAN ULTRA CHROME HG2 INK CARTRIDGE	4 EACH	\$20.59	\$82.36
	Packaging: Original OEM			
	MFG/Brand: Epson			
	Product No: T324220	<u>_</u>		
	Variances, if any:	<del></del>		
331	#T324020 - EPSON T324 GLOSS OPTIMIZER ULTRA CHROME HG2 INK CARTRIDGE	4 EACH	\$20.59	\$82.36
	Packaging: Original OEM			1
	MFG/Brand: Epson			
	Product No: T324020	<del></del>		
	Variances, if any:			
332	#T324820 - EPSON T324 MATTE BLACK ULTRA	4 EACH	\$20.59	\$82.36
	CHROME HG2 INK CARTRIDGE			
	Packaging: Original OEM			
	Packaging: Original OEM  MFG/Brand: Epson	<del></del>		
	T224020	<del></del>		
	Product No: 1324620			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	) - EPSON T324 ORANGE ULTRA CHROME CARTRIDGE	4 EACH	\$20.59	\$82.36
Packag	ing: Original OEM		<u> </u>	_L
MFG/B	III9	_		
Produc	700,1000	<del></del>		
Variand	es, if any:	_		
334 #T324720 CARTRIE	) - EPSON T324 RED ULTRA CHROME HG2 INK IGE	4 EACH	\$20.59	\$82.36
<b>.</b> .	. Original OEM		<b>!</b>	
Packag MFG/B	ing: =			
Produc	rand.	<del></del>		
	es, if any:	· -		
335 #T324420 INK CAR	) - EPSON T324 YELLOW ULTRA CHROME HG2 TRIDGE	4 EACH	\$20.59	\$82.36
5 .	ing: Original OEM		L	
Packag MFG/B	mg. ====================================	_		
Produc	Table 100	<del>-</del> -		
	es, if any:	_		
336 #T295000	00 EPSON INK MAINTENANCE BOX WF-100	4 EACH	\$6.20	\$24.80
Packag		_		
MFG/B		_		
Produc Variand	t No:	— —		
337 #T902XL HIGH-CA	120 - EPSON T902XL BLACK INK PACK PACITY	4 EACH	\$77.94	\$311.76
Packag	Encon	_		
MFG/B	T002VI 120	_		
Produc	L NO. ———————————————————————————————————	<del></del>		
vanano	es, if any:	<del></del>		

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
338	#T902XL120 - EPSON T902XL CYAN INK PACK HIGH-CAPACITY	4 EACH	\$88.40	\$353.60
	Packaging: Original OEM  MEG/Brand: Epson			
	MFG/Brand: Epson Product No: T902XL220			
	Variances, if any:			
339	#T902XL120 - EPSON T902XL MAGENTA INK PACK HIGH-CAPACITY	4 EACH	\$88.40	\$353.60
	Packaging: Original OEM		L	
	MFG/Brand: Epson Product No: T902XL320	•		
	Variances, if any:	•		
340	#T902XL120 - EPSON T902XL YELLOW INK PACK HIGH-CAPACITY .00	4 EACH	\$88.40	\$353.60
	Packaging: Original OEM  MFG/Brand: Epson Product No: T902XL420		L	
	Variances, if any:			10.475.00
341	EPSON PRINTER CARTRIDGES NOT LISTED:			\$475.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$500.00			
	LESS DISCOUNT OF			
	NET COST TO COUNTY (ESTIMATED) \$_475.00_*			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER PRINTER CARTRIDGES FOR VARIOUS PRINTERS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM	¥	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand:	Original OEM			
		· · · · · · · · · · · · · · · · · · ·			
	Product No:	EPSON PRINTER CARTRIDGES			
	Variances, if	any:			
XERO	)X				
346	EPSON PRINT	ER CARTRIDGES NOT LISTED:	3 EACH	\$475.00	\$1,425.00
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER				
	THE NET COS FOLLOWS:	T TO THE COUNTY COMPUTED AS			
		MOUNT AT MANUFACTURER'S LIST PRICE: \$500.00			
	LESS DISCOU (IF ANY)	NT OF <u>5</u> % OFF (-\$)			
	NET COST TO	COUNTY (ESTIMATED) \$ <u>\$1,425.00</u> *			
	*/PUT THIS AN	MOUNT IN THE "TOTAL PRICE" COLUMN			
	FOR THIS ITE	M. THE ACTUAL CONTRACT AND			
	PURCHASE O	RDER MAY USE A SOMEWHAT			
	DIFFERENT A	MOUNT FOR THIS ITEM, BUT BIDS WILL			1
	BE EVALUATE	D ON THIS AMOUNT			
	Packaging:	Original OEM			,
	MFG/Brand:	Epson			
	Product No:	EPSON PRINTER CARTRIDGES			
	Variances, if	any:			
	-				1400 440 00
				1 \$	3480.448.38 l

\*\*\*\*\* SEE ATTACHED SPECIFICATION

#### Various Delivery Locations:

Information Technology Services Human Services Building 3000 Kozloski Road Freehold, NJ 07728 Carol Doggett 732-431-7991 x5878

#### **REQUEST FOR BID**

---- This Is Not An Order -----



RFB# F-33-2024

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER PRINTER CARTRIDGES FOR VARIOUS PRINTERS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#

DESCRIPTION

QUANTITY/UNIT

**UNIT PRICE** 

**TOTAL PRICE** 

County Clerk

Market Yard

33 Mechanic Street

Freehold, NJ 07728

Felicia Santaniello 732-431-7324 x8742

Workforce Development

Att: Larry Sternbach

60 Taylor Avenue

Neptune, NJ 07753

Pam Shepherd 732-683-8850 x2611

Division of Social Services Human Services Building 3000 Kozloski Road Freehold, NJ 07728

Lisa Mark 732-431-6000 x6176

Library

Headquarters/Western Branch

125 Symmes Drive

Manalapan, NJ 07726

Elisa Lonigro 732-431-7220 x7237